



Research Paper

MAPS PRESERVING THE MIXED LIE TRIPLE *-DERIVATIONS ON *-ALGEBRAS

SHAHRZAD E. GORJI¹, ALI TAGHAVI^{2,*} 

¹Department of Mathematics, University of Mazandaran, Babolsar, Iran, shahrzadelyasigorji@gmail.com

²Department of Mathematics, University of Mazandaran, Babolsar, Iran, taghavi@umz.ac.ir

ARTICLE INFO

Article history:

Received: 29 August 2025

Accepted: 21 October 2025

Communicated by Nasrin Eghbali

Keywords:

mixed Lie triple *-derivations

*-derivations

von Neumann algebras

MSC:

46J10; 47B48

ABSTRACT

Let $\mathcal{A}$ be an unital *-algebra with the unit I . In this paper, under some mild conditions on $\mathcal{A}$, it is shown that a map $\Phi : \mathcal{A} \rightarrow \mathcal{A}$ is the mixed Lie triple *-derivations on *-algebras if and only if Φ is an additive *-derivations.

1. INTRODUCTION

Let $\mathcal{A}$ be a *-algebra over the complex field $\mathbb{C}$. For $A, B \in \mathcal{A}$ define the $\bullet$ product of A and B by $A \bullet B = AB + B^*A$ and the $\circ$ product of A and B by $A \circ B = AB - B^*A$. Recall that an additive map $\Phi : \mathcal{A} \rightarrow \mathcal{A}$ is said to be an additive derivation if $\Phi(AB) = \Phi(A)B + A\Phi(B)$ for all $A, B \in \mathcal{A}$. Furthermore, Φ is said to be an additive *-derivation when Φ is an additive derivation and satisfies $\Phi(A^*) = \Phi(A)^*$ for all $A \in \mathcal{A}$. Recently, many authors have studied derivations corresponding to some mixed products (see [12], [21-23]).

Set $\mathcal{A}_{sa} = \{A \in \mathcal{A} : A^* = A\}$ and $\mathcal{A}_{sk} = \{A \in \mathcal{A} : A^* = -A\}$.

*Address correspondence to Ali Taghavi; Department of Mathematics, Faculty of Mathematical Sciences, University of Mazandaran, P.O.Box 47416-1468, Babolsar, Iran, E-mail: taghavi@umz.ac.ir.

This work is licensed under a [Creative Commons Attribution-NonCommercial 4.0](https://creativecommons.org/licenses/by-nc/4.0/) International License.

Copyright © 2026 The Author(s). Published by University of Mohaghegh Ardabili.

L. Abedini, A. Taghavi [1] proved if $\mathcal{A}$ is a factor von Neumann algebra with $\dim \mathcal{A} \geq 2$, the map $\Phi : \mathcal{A} \rightarrow \mathcal{A}$ satisfies

$$\Phi(A \blacklozenge B \blacklozenge C) = \Phi(A) \blacklozenge B \blacklozenge C + A \blacklozenge \Phi(B) \blacklozenge C + A \blacklozenge B \blacklozenge \Phi(C)$$

for all $A, B, C \in \mathcal{A}$ if and only if Φ is an additive $*$ -derivation, where

$A \blacklozenge B = A^*B + B^*A$ and $A \blacklozenge B = A^*B - B^*A$. Very recently, D. Zhang and C. Li [21] considered the nonlinear mixed Jordan triple $*$ -derivations. Let $\mathcal{A}$ be a $*$ -algebra. A map $\Phi : \mathcal{A} \rightarrow \mathcal{A}$ is said to be a nonlinear mixed Jordan triple $*$ -derivation if

$$\Phi([A \bullet B, C]_*) = [\Phi(A) \bullet B, C]_* + [A \bullet \Phi(B), C]_* + [A \bullet B, \Phi(C)]_*$$

for all $A, B, C \in \mathcal{A}$.

C. Li, D. Zhang, [7] proved any map Φ from a factor von Neumann algebra $\mathcal{A}$ with $\dim \mathcal{A} \geq 2$ to itself satisfies

$$\Phi([A, B]_* \bullet C) = [\Phi(A), B]_* \bullet C + [A, \Phi(B)]_* \bullet C + [A, B]_* \bullet \Phi(C)$$

for all $A, B, C \in \mathcal{A}$, if and only if Φ is an additive $*$ -derivation, where $[A, B]_* = AB - BA^*$ and $A \bullet B = AB + BA^*$. Similarly, we can give the definition of the second nonlinear mixed Jordan triple $*$ -derivations. A map $\Phi : \mathcal{A} \rightarrow \mathcal{A}$ is said to be the nonlinear mixed Lie triple $*$ -derivation if

$$(1.1) \quad \Phi(A \circ B \bullet C) = \Phi(A) \circ B \bullet C + A \circ \Phi(B) \bullet C + A \circ B \bullet \Phi(C),$$

for all $A, B, C \in \mathcal{A}$. In this paper, it is shown that under some mild conditions on a $*$ -algebra $\mathcal{A}$ containing a nontrivial projection P_1 , if a mapping $\Phi : \mathcal{A} \rightarrow \mathcal{A}$ satisfies the conditions (1.1) then Φ is additive on $\mathcal{A}_{sa}$ and $\mathcal{A}_{sk}$. Furthermore, the map Φ satisfies (1.1) for every $A, B \in \mathcal{A}$ and $C \in \mathcal{A}_{P_1}$ if and only if Φ is an additive $*$ -derivation, where, $\mathcal{A}_{P_1} = \{\frac{I}{2}, \frac{iI}{2}, P_1, I - P_1, I - 2P_1\}$.

2. MAIN RESULTS AND PROOFS

Our main result in this paper reads as follows.

Theorem 2.1. *Let $\mathcal{A}$ be a unital $*$ -algebra with the unit I . Suppose that $\mathcal{A}$ contains a nontrivial projection P_1 and satisfies*

$$(2.1) \quad X\mathcal{A}P_i = 0 \text{ implies } X = 0, \quad i = 1, 2.$$

where, $P_2 = I - P_1$. Then a map $\Phi : \mathcal{A} \rightarrow \mathcal{A}$ satisfies the conditions (1.1) for all $A \in \mathcal{A}_{sa} \cup \{\frac{iI}{2}\}$, $B \in \mathcal{A}$ and $C \in \mathcal{A}_{P_1}$, then Φ is additive on $\mathcal{A}_{sa}$ and $\mathcal{A}_{sk}$. Furthermore, the map Φ satisfies (1.1) for every $A, B \in \mathcal{A}$ and $C \in \mathcal{A}_{P_1}$ if and only if Φ is an additive $*$ -derivation.

Proof. Clearly, the necessity is obvious.

Let $P_1 (= P)$ be a nontrivial projection in $\mathcal{A}$. Denote $\mathcal{A}_{ij} = P_i \mathcal{A} P_j$ ($i, j = 1, 2$), then $\mathcal{A} = \sum_{i,j=1}^2 \mathcal{A}_{ij}$. Denote $\mathbf{A}_{12} = A_{12} + A_{12}^*$. So $\mathbf{A}_{12} = P_1 \mathcal{A} P_2 + P_2 \mathcal{A} P_1$ whenever $A \in \mathcal{A}_{sa}$. Hence, for every $A \in \mathcal{A}_{sa}$ we can write $A = A_{11} + \mathbf{A}_{12} + A_{22}$. In all that follows, when we write A_{ij} , it indicates that $A_{ij} \in \mathcal{A}_{ij}$ ($i, j = 1, 2$). To prove the additivity of Φ on $\mathcal{A}$ we shall use the above partition of $\mathcal{A}$ and we shall establish some Steps proving that Φ is additive on each $\mathcal{A}_{ij}$, $i, j = 1, 2$. Also, we denote $Z(\mathcal{A}) = \{A \in \mathcal{A} : AB = BA, B \in \mathcal{A}\}$. We organize

the proof in a series of steps.

Step 1. $\Phi(0) = 0$.

We have

$$\Phi(0) = \Phi(0 \circ 0 \bullet 0) = \Phi(0) \circ 0 \bullet 0 + 0 \circ \Phi(0) \bullet 0 + 0 \circ 0 \bullet \Phi(0) = 0.$$

Step 2. For every $B \in \mathcal{A}$ we have

$$\Phi\left(\frac{B - B^*}{2}\right) = \frac{\Phi(B) - \Phi(B)^*}{2},$$

and $\Phi\left(\pm \frac{I}{2}\right) = 0$.

Let $A \in \mathcal{A}_{sa} \cup \left\{\frac{iI}{2}\right\}$ and $B \in \mathcal{A}$. From (1.1), we get

$$\begin{aligned} \Phi(AB - B^*A) &= \Phi(A \circ B \bullet \frac{I}{2}) \\ &= \Phi(A) \circ B \bullet \frac{I}{2} + A \circ \Phi(B) \bullet \frac{I}{2} + A \circ B \bullet \Phi\left(\frac{I}{2}\right) \\ &= \Phi(A)B - B^*\Phi(A) + A\Phi(B) - \Phi(B)^*A \\ (2.2) \quad &+ (AB - B^*A)\Phi\left(\frac{I}{2}\right) + \Phi\left(\frac{I}{2}\right)^*(AB - B^*A). \end{aligned}$$

By replacing B by $\frac{I}{2}$ in Equation (2.2) and using Step 1; we can conclude that

$$(2.3) \quad \Phi\left(\frac{I}{2}\right)^* = \Phi\left(\frac{I}{2}\right) \in \mathcal{Z}(\mathcal{A}).$$

By choosing $A = \frac{I}{2}$, we obtain

$$(2.4) \quad \Phi\left(\frac{B - B^*}{2}\right) = \Phi\left(\frac{I}{2}\right)(B - B^*) + \frac{\Phi(B) - \Phi(B)^*}{2},$$

for every $B \in \mathcal{A}$. Let B be a skew self-adjoint. From (2.4) we obtain $\Phi(B) = 2\Phi\left(\frac{I}{2}\right)B + \frac{\Phi(B) - \Phi(B)^*}{2}$. By using (2.3), we can conclude that Φ preserves skew self-adjoint elements. Also, it can be easily follows from relation (2.4) that Φ preserves self-adjoint elements.

Again, if $B^* = -B$ from Equation (2.4) we get $\Phi\left(\frac{I}{2}\right)B = 0$ and so $\Phi\left(\frac{I}{2}\right) = 0$. This together with (2.4) we obtain

$$\Phi\left(\frac{B - B^*}{2}\right) = \frac{\Phi(B) - \Phi(B)^*}{2},$$

for every $B \in \mathcal{A}$.

Similarly, we can show that $\Phi\left(-\frac{I}{2}\right) = 0$.

Step 3. For every $A \in \mathcal{A}_{sa}$ we have $\Phi(iA) = i\Phi(A)$.

Let $A \in \mathcal{A}_{sa}$. From Step 2 we have

$$\begin{aligned} \Phi(iA) &= \Phi(A \circ \frac{iI}{2} \bullet \frac{I}{2}) \\ &= \Phi(A) \circ \frac{iI}{2} \bullet \frac{I}{2} + A \circ \Phi\left(\frac{iI}{2}\right) \bullet \frac{I}{2} + A \circ \frac{iI}{2} \bullet \Phi\left(\frac{I}{2}\right) \\ (2.5) \quad &= i\Phi(A) + A\Phi\left(\frac{iI}{2}\right) + \Phi\left(\frac{iI}{2}\right)A. \end{aligned}$$

By choosing $A = \frac{iI}{2}$ we obtain $\Phi(\frac{iI}{2}) = 0$ and so from (2.5) we get $\Phi(iA) = i\Phi(A)$.

Step 4. Let $A, B, C \in \mathcal{A}$ and $T = \Phi(A + B) - \Phi(A) - \Phi(B)$. If the triplets (A, X, C) , (B, X, C) and $(A + B, X, C)$ satisfy in the condition (1.1) and $B \circ X \bullet C = 0$ for some $X \in \mathcal{A}$, then $T \circ X \bullet C = 0$.

By applying Step 1 we can write

$$\begin{aligned} \Phi((A + B) \circ X) \bullet C &= \Phi((A \circ X) \bullet C) + \Phi((B \circ X) \bullet C) \\ &= \Phi((A \circ X) \bullet C + (A \circ \Phi(X)) \bullet C + (A \circ X) \bullet \Phi(C) \\ &\quad + (\Phi(B) \circ X) \bullet C + (B \circ \Phi(X)) \bullet C + (B \circ X) \bullet \Phi(C)) \\ &= (\Phi((A + B)) \circ X) \bullet C + ((\Phi(A) + \Phi(B)) \circ X) \bullet C \\ &\quad + ((A + B) \circ X) \bullet \Phi(C). \end{aligned}$$

On the other hand,

$$\begin{aligned} \Phi(((A + B) \circ X) \bullet C) &= (\Phi(A + B) \circ X) \bullet C + ((A + B) \circ \Phi(X)) \bullet C \\ &\quad + ((A + B) \circ X) \bullet \Phi(C). \end{aligned}$$

It follows from the last two relations that $T \circ X \bullet C = 0$.

Step 5. For each $A \in \mathcal{A}_{sa}$ and $B \in \mathcal{A}$, we have

$$\Phi(\mathbf{B}_{12} + A_{11}) = \Phi(\mathbf{B}_{12}) + \Phi(A_{11})$$

and

$$\Phi(\mathbf{B}_{12} + A_{22}) = \Phi(\mathbf{B}_{12}) + \Phi(A_{22})$$

Let $T = \Phi(A_{11} + \mathbf{B}_{12}) - \Phi(A_{11}) - \Phi(\mathbf{B}_{12})$. Then From Step 2 we have $T^* = T$. Since $A_{11} \circ \frac{iI}{2} \bullet \frac{P_2}{2} = 0$, from Step 4 we get that $T \circ \frac{iI}{2} \bullet \frac{P_2}{2} = 0$. We obtain from the last relation $T_{12} = T_{21} = T_{22} = 0$. Similarly, from $\mathbf{B}_{12} \circ \frac{iI}{2} \bullet \frac{P_1 - P_2}{2} = 0$, we have $T \circ \frac{iI}{2} \bullet \frac{P_1 - P_2}{2} = 0$, which implies that $T_{11} = 0$. Therefore $T = 0$, i.e.

$$\Phi(A_{11} + \mathbf{B}_{12}) = \Phi(A_{11}) + \Phi(\mathbf{B}_{12}).$$

By similar arguments to those employed above one can show that

$$\Phi(A_{22} + \mathbf{B}_{12}) = \Phi(A_{22}) + \Phi(\mathbf{B}_{12}).$$

Step 6. For each $A, C \in \mathcal{A}_{sa}$ and $B \in \mathcal{A}$, we have

$$\Phi(A_{11} + \mathbf{B}_{12} + C_{22}) = \Phi(A_{11}) + \Phi(\mathbf{B}_{12}) + \Phi(C_{22}).$$

Let $T = \Phi(A_{11} + \mathbf{B}_{12} + C_{22}) - \Phi(A_{11} + \mathbf{B}_{12}) - \Phi(C_{22})$. From Step 2 we have $T^* = T$. Since $A_{22} \circ \frac{iI}{2} \bullet \frac{P_1}{2} = 0$, from the Step 4 we get $T \circ \frac{iI}{2} \bullet \frac{P_1}{2} = 0$. We obtain from the last relation $T_{12} = T_{21} = T_{11} = 0$. Similarly, from $\mathbf{B}_{12} \circ \frac{iI}{2} \bullet \frac{P_1 - P_2}{2} = 0$, we

have $T \circ \frac{iI}{2} \bullet \frac{P_1 - P_2}{2} = 0$, which implies that $T_{22} = 0$. Therefore $T = 0$, i.e.

$$\Phi(A_{11} + B_{12} + C_{22}) = \Phi(A_{11}) + \Phi(B_{12}) + \Phi(C_{22}).$$

Step 7. For each $A, B \in \mathcal{A}$, we have

$$\Phi(A_{jk} + B_{jk}) = \Phi(A_{jk}) + \Phi(B_{jk}), \quad 1 \leq j \neq k \leq 2.$$

Since

$$\begin{aligned} (P_j + A_{jk}) \circ i(P_k + B_{jk}) \bullet \frac{I}{2} &= iB_{jk} + iA_{jk} + iA_{jk}B_{jk} + iB_{jk}^* + iB_{jk}^*A_{jk} \\ &= iA_{jk} + iB_{jk} + iA_{jk}(B_{jk} + B_{jk}^*) \\ &= iA_{jk} + iB_{jk} + iA_{jk}B_{jk} \end{aligned}$$

We get from step 5 and 6

$$\begin{aligned} \Phi(i(A_{jk} + B_{jk})) + \Phi(iA_{jk}B_{jk}) &= \Phi((P_j + A_{jk}) \circ i(P_k + B_{jk}) \bullet \frac{I}{2}) \\ &= (\Phi(P_j) + \Phi(A_{jk})) \circ i(P_k + B_{jk}) \bullet \frac{I}{2} + (P_j + A_{jk}) \circ (\Phi(iP_k) + \Phi(iB_{jk})) \bullet \frac{I}{2} \\ &= (\Phi(P_j) + \Phi(A_{jk})) \circ i(P_k + B_{jk}) \bullet \frac{I}{2} + (P_j + A_{jk}) \circ (\Phi(iP_k) + \Phi(iB_{jk})) \bullet \frac{I}{2} \\ &\quad + (P_j + A_{jk}) \circ iI(P_k + B_{jk}) \bullet \Phi(\frac{I}{2}) \\ &= \Phi(P_j) \circ iP_k \bullet \frac{I}{2} + \Phi(P_j) \circ iB_{jk} \bullet \frac{I}{2} + \Phi(A_{jk}) \circ iP_k \bullet \frac{I}{2} + \Phi(A_{jk}) \circ iB_{jk} \bullet \frac{I}{2} \\ &\quad + P_j \circ \Phi(iP_k) \bullet \frac{I}{2} + P_j \circ \Phi(iB_{jk}) \bullet \frac{I}{2} + A_{jk} \circ \Phi(iP_k) \bullet \frac{I}{2} + A_{jk} \circ \Phi(iB_{jk}) \bullet \frac{I}{2} \\ &\quad + P_j \circ iP_k \bullet \Phi(\frac{I}{2}) + P_j \circ iB_{jk} \bullet \Phi(\frac{I}{2}) + A_{jk} \circ iP_k \bullet \Phi(\frac{I}{2}) + A_{jk} \circ iB_{jk} \bullet \Phi(\frac{I}{2}) \\ &= \Phi(iB_{jk}) + \Phi(iA_{jk}) + \Phi(iB_{jk}A_{jk}). \end{aligned}$$

This implies $\Phi(i(A_{jk} + B_{jk})) + \Phi(iA_{jk}B_{jk}) = \Phi(iB_{jk}) + \Phi(iA_{jk}) + \Phi(iA_{jk}B_{jk})$, and then $\Phi(i(A_{jk} + B_{jk})) = \Phi(iB_{jk}) + \Phi(iA_{jk})$.

From Step 3 we obtain

$$\Phi(A_{jk} + B_{jk}) = \Phi(A_{jk}) + \Phi(B_{jk}).$$

Step 8. For every $A, B \in \mathcal{A}_{sa}$, we have

$$\Phi(A_{jj} + B_{jj}) = \Phi(A_{jj}) + \Phi(B_{jj}) \quad 1 \leq j \neq k \leq 2.$$

Let $T = \Phi(A_{jj} + B_{jj}) - \Phi(A_{jj}) - \Phi(B_{jj})$. From Step 2 we have $T^* = T$. Since $A_{11} \circ iP_2 \bullet \frac{I}{2} = 0$, from the Step 4 we have $T \circ iP_2 \bullet \frac{I}{2} = 0$. We obtain from the last relation $T_{12} = T_{21} = T_{22} = 0$. Similarly, if $S \in \mathcal{A}_{sa}$, then from $A_{11} \circ iS_{21} \bullet \frac{I}{2} = 0$, we have $T \circ iS_{21} \bullet \frac{I}{2} = 0$, which implies that $T_{11} = 0$. Therefore $T = 0$. i.e.

$$\Phi(A_{jj} + B_{jj}) = \Phi(A_{jj}) + \Phi(B_{jj}) \quad 1 \leq j \neq k \leq 2.$$

Step 9. Φ is additive on $\mathcal{A}_{sa}$.

Let $A = \sum_{i,j=1}^2 A_{ij} \in \mathcal{A}_{sa}$, $B = \sum_{i,j=1}^2 B_{ij} \in \mathcal{A}_{sa}$. Now it follows from Steps 5, 6, 7 and 8, that

$$\begin{aligned} \Phi(A+B) &= \Phi\left(\sum_{i,j=1}^2 A_{ij} + \sum_{i,j=1}^2 B_{ij}\right) = \Phi\left(\sum_{i,j}^2 (A_{ij} + B_{ij})\right) \\ &= \sum_{i,j=1}^2 \Phi(A_{ij} + B_{ij}) = \sum_{i,j=1}^2 \Phi(A_{ij}) + \sum_{i,j=1}^2 \Phi(B_{ij}) \\ &= \Phi\left(\sum_{i,j=1}^2 A_{ij}\right) + \Phi\left(\sum_{i,j=1}^2 B_{ij}\right) \\ &= \Phi(A) + \Phi(B). \end{aligned}$$

Step 10. Φ is additive on $\mathcal{A}_{sk}$.

This follows from Steps 3 and 9.

From now on we assume that condition (1.1) is valid for every $A, B \in \mathcal{A}$ and $C \in \mathcal{A}_{p_1}$

Step 11. Φ is $*$ -additive on $\mathcal{A}$.

Let $A \in \mathcal{A}$. By choosing $B = \frac{iI}{2}$ from (2.2) we obtain $\Phi(iA) = i\Phi(A)$. According to Step 2 we can conclude $\Phi(A + A^*) = -i\Phi(i(A + A^*)) = -i(\Phi(iA) - \Phi(iA)^*) = \Phi(A) + \Phi(A)^*$. This together with Step 2 follows that we have $\Phi(A) = \frac{\Phi(A) + \Phi(A)^*}{2} + \frac{\Phi(A) - \Phi(A)^*}{2} = \Phi\left(\frac{A + A^*}{2}\right) + \Phi\left(\frac{A - A^*}{2}\right)$. Since Φ is the preserver of self-adjoint and skew self-adjoint elements, it follows from this relationship that Φ will be the preserver of involution. Let $A, B \in \mathcal{A}$. By applying Steps 9 and 10 we have

$$\begin{aligned} \Phi(A+B) &= \Phi\left(\frac{(A+B) + (A+B)^*}{2}\right) + \Phi\left(\frac{(A+B) - (A+B)^*}{2}\right) \\ &= \Phi\left(\frac{A + A^*}{2}\right) + \Phi\left(\frac{A - A^*}{2}\right) \\ &= \Phi\left(\frac{B + B^*}{2}\right) + \Phi\left(\frac{B - B^*}{2}\right), \end{aligned}$$

which implies that Φ is $*$ -additive.

Step 12. Φ is additive $*$ -derivation.

In view of the proof of Step 2, we have

$$\Phi(AB - B^*A) = \Phi(A)B - B^*\Phi(A) + A\Phi(B) - \Phi(B^*)A.$$

Replacing B by iB in the above Equation and by using $\Phi(iB) = i\Phi(B)$, we get

$$\Phi(AB + B^*A) = \Phi(A)B + B^*\Phi(A) + A\Phi(B) + \Phi(B^*)A.$$

From two above Equations we obtain

$$\Phi(AB) = \Phi(A)B + A\Phi(B),$$

i.e. Φ is an additive $*$ -derivation. This completes the proof of Theorem 2.1. $\square$

Acknowledgments The authors are grateful to the anonymous referees and editors for their work.

REFERENCES

- [1] L. Abedini, A. Taghavi *Nonlinear Maps preserving the mixed Products $A \bullet B \circ C$ on von Neumann algebras*, Rocky Mountain Journal of Mathematics, (2022).
- [2] Z. Bai, S. Du, *Maps preserving product $XY - YX^*$ on von Neuman algebras*, J. Math. Anal. Appl. **386** (2012) 103-109.
- [3] M. Bresar, A. Fosner, *On rings with involution equipped with some new product*, Publ. Math. Debrecen **57** (2000) 121-134.
- [4] J. Cui, C. K. Li, *Maps preserving product $XY - YX^*$ on factor von Neuman algebras*, Linear Algebra Appl. **431** (2009) 833- 842.
- [5] L. Dai, F. Lu, *Nonlinear maps preserving Jordan $*$ -products*, J. Math. Anal. Appl. **409** (2014) 180- 188.
- [6] C. Li, F. Lu and X. Fang, *mappings preserving product $XY + YX^*$ on factor von Neuman algebra*, Linear Algebra Appl. **438**(2013) 2339-2345.
- [7] C. Li, D. Zhang, *Nonlinear Mixed Jordan triple $*$ -Derivations on Factor von Neumann Algebras*, Filomat **36:8**(2022), 2637–2644 <https://doi.org/10.2298/FIL2208637L>.
- [8] C. Li, Y. Zhao, F. Zhao, *Nonlinear maps preserving the mixed product $[A \bullet B, C]_*$ on von Neumann algebras*, Filomat, **35**(8), 2021.
- [9] L. Liu, G. X. Ji, *Maps preserving product $X^*Y + YX^*$ on factor von Neuman algebra*, Linear and Multilinear Algebra. **59** (2011), 951-955.
- [10] C. R. Miers, *Lie homomorphisms of operator algebras*, Pacific J. Math. **38** (1971) 717-735.
- [11] L. Molnar, *A condition for a subspace of $B(H)$ to be an ideal*, Linear Algebra APPL. **235**(1996) 229-234.
- [12] Y. pang, D. Zhang, D. Ma, *The second nonlinear mixed Jordan triple derivable mapping on factor von Neumann algebras. Bulletin of the Iranian Mathematical Society.* (2021)<https://doi.org/10.1007/s41980-021-00555-1>.
- [13] P. Šemrl, *Quadratic functionals and Jordan $*$ - derivations*, Studia Math. **97** (1991) 157-165.
- [14] P. Šemrl, *On Jordan $*$ -derivations and an application*, Colloq. Math. **59**(1990) 241-251.
- [15] A. Taghavi, *Nonlinear Jordan triple $*$ -derivations on prime $*$ -algebras*, Journal of Algebra and Its Applications, (2025) 2550164 (10 pages) DOI: 10.1142/S0219498825501646.
- [16] A. Taghavi, H. Rohi and Darvish, *Nonlinear $*$ - Jordan derivations on von Neumann algebras*, Linear Multilinear Algebra, **64** (2016), 426-439.
- [17] Z. Yang, J. Zhang, *Nonlinear maps preserving the mixed skew Lie triple product on factor von Neumann algebras*, Ann. Funct. Anal. **10** (2019) 325-336.
- [18] Z. Yang, J. Zhang, *Nonlinear maps preserving the second mixed skew Lie triple product on factor von Neumann algebras*, Linear Multilinear Algebra. **68** (2020) 377-390.
- [19] F. Zhang, *Nonlinear skew Jordan derivable maps on factor von Neumann algebras*, Linear Multilinear Algebra, **64** (2016) 2090-2103.
- [20] F. Zhang, *Nonlinear maps preserving the mixed Jordan triple η - $*$ product between factors*, arxiv: 2007-03247v1.
- [21] D. Zhang, C. Li, *Nonlinear maps mixed Jordan triple $*$ derivations on factor von Neumann algebras*, arxiv: 2112-04486v1.
- [22] X. Zhao, X. Fang, *The second nonlinear mixed Lie triple derivations on finit von Neumann algebras*, Bulletin of the Iranian Mathematical Society, arxiv: **47**(2021) 237-254.
- [23] Y. Zhao, J. Zhang, *The second nonlinear mixed Lie triple derivations on factor von Neumann algebras*, Advances In Mathematics(China), arxiv: **48** (2019) 441-449.
- [24] Y. Zhao, Z. Yang, J. Zhang, *Nonlinear mixed Lie triple derivations on prime $*$ -algebras*, Communications in Algebra, arxiv: **47** (2019) 4791-4796.